
Ang D 
&ols tian 

Class. 
Nomal:y olalrty and Mde Fraclion 

Taching Task 

A) S0q of KoH llooml of sduon. 

c) 

N= 

Ans B. 

D 6g of 
N 

fe t9 

56 

B) 05 moor Ha Soy. ’ N= Molavity x Easiay 

IN H3Poy 

N Mx Q. 

X 

o.5 X= |N. 

Fe12 

1000 80 

6 

solution. 

56 

NacH loo g of oater 

No. of m ole 

l008 

8olutioo No. of moles of Ha0, n= HMYo.05L:0.2 

fe +aHl ’ fet Hat 9cl + 

9 moley of Hcl is Yequtred to convet fe to 

xo2 = 0. | mole 

maa. 



Q Aps B 

A) 0.37. HgPoy 
Molan may = 3+3l+l6x4. = 98 

B) 03M t% Poy. 

M: w 
GMo 

o3 = 

C) o.3nn 

w= A:4gms /in | ltre 

HPoy 
m 

N 

1000 

98 

) o3N Hs Poy 

Vm 

GMw k) 

preent io 

|000 
GEw Vml 

2 

x 

in 1000 o 

03M is m&e cancenratd becau 9 yany A 



Q4) Ans D 
8oluion Guven 

5rol af N Hcl: 

M- lx5 =5M. 

JOml o N Ha Soy. 

M, xo = l0M. 

3oml of N5 HNO3. 

Mx30o lo M. 

"leg, = M, + Ma t M3 5+l0 +lo =25 M. 

Volume l000 ml. 

Meq = Nxv. 

Q5 - NX \000 

N= 

N 
Normarty o of soluip oold be N Y0 



Q5) Ans B 
oluin Hgsa, +a KOH Ko S0y tQHa 0 

FB Innole of Hasa -mole of koH reguired. 

Gver l00 ml of o.M Hgsoy. 
n= Molariy x Vit= oxo-|= 0-ol rmol ey. 

100n o of o.J M KOH 

h= 0.lXol 

F8 0-ol tnoles off Hasoy o 02 moey of kott 

Yequín ed but we have anl4 O0l mole of kot. 

0-ol mole. 

koH ts lrnitng reogen, Föo-ol moleg ofko! 
o- 005 mdle of HSou fs used. 

Kernainig HasOu : O.ol-O 005 =0005 mol. 

a6). AnsL D 

l000 

Vml: 

GEw Gm N= Dw 
GMW 

Géy en V:9 Rtre a0oO ml 

Mole percert 

N= 0-00os x evalet Imole 

: 0-005 =5xlo3 N. 

lo00 
Vml 

n=l (Mois sah), â vobd of Feqvals of kae 

cP Mobis 
S00xoS X6x |=30. 

= 60. 



Q)Ans A: 
&lutrn The valency hcto ta K, Gn 0Ë ís 6., 

Ng 

Q3) Ans D: 

N2w 
M-wt 

4exlx 1. 

W 

56 

56 

Solutfon Mole factt o ofwater= |-0620 4. 

No-of rnole of woater n solutign=n 

ar 

Molw ot alcohol= Giiven may 

Mle factio af oater of 

n 
n+3. 

Sn43 

Molecula ma 

nt3 

693 

Qn- 0gn +1-2 

gn-0-8n 2 

fa \mole oorter, GMW= 13 gms. 

2 



Qa)|Ans B 

G° ven volume = 600ml= 500 
Vin lire. 

M= 
lO002 

No. of moley oeight 

Q1o)Ans B. 

= &n Molai ty axmole ofsdt 

Cweight = Mola�hy xmoloa 
mol mass 

I000 

Equtvalent wetght = molan mags 
basi utt 

Cmde, of 

solution > 

Weight of solutn 
weig ht of soNent 

Wetght of acid preent in solutto= 

ma mass. 

60 

Molahy x molar moy of ibast; 

Armourt of a�de Mdlaodty xtgavol ent weight 

Mdlaotty 

519. 

Sdutn Moles of Solut present îo S0oml of 

2 

=6: ). 

Molo nas 

of soven 

in 

= 500 x "05 =55 qm. 

595- 6 519 gms. 

ad 



O) dos B. 
|&gutigo No of mole of solts (r)-k 

Weght of sdutin dxv 

Mdality Do. ofmle of lo00 Solute Loeight of saert 
= 

m= O,5 X 

Qia) Ang A 

wetght oP solvent = W. Solutn W of Sdlctr 

= 096x lo0 = 96. 

Y =I2, 

looo 
8 

| &qutign 3 Ha Yed bo tete 

q6-16 = 80 

13) Ans C D. 

hot X 

506.25 m 

INa Sa Oa +Y’ Nag SyOs +QNat. 

8 

Mde hoctn of y -02. 

Molal'ty o9 

Total mole fracti of XEy |. 

nole tracim of X= |-Y=l-62=0"8. 

O8x48 

-650le 

X l000 - 200 
62-4 

are fndeperdert of deroperatures. 

c32m. 

&olytin Mole hactm, mdalty& hwt 



QIAst B,c 
&oluon 

M NagCOs 

NNogto 
M HaCgOu 

-53x lpoo osM 

Q)Ap A 

J06 

= 05X|-0 N. 

NAnsD 

6-3 6 
JQ6 

NaCDu-9 Ha) =0.5x2 = 1 

xlo0o :05M 

Fa Bos 6dutiony Molatty & Namali are sanl. 

2 

To Mnsoy 

olutigo The quantes of tte sdute solvert 

are erpiessed in oeigs. the molalrt doa not 

charge oit the charge n torperalure. in 

2 

|&olutian+ Equivalert weight = Molan nos 

Oxdoti nunbe of Mn in kMo Oy. 

Mn 2 

valu lactr. 

Mnt644(-2) >o 

|+ Mot4C-2) =o 
Mn1 

M 

Oddatin stat o Mo chargy hom 7to2 oP 
&o val erox faca =5 



Q) Ans} C 
Soian Relato bho molorityE nolaliy 

Q1s) Ars B 

lO00 x M 
(io00xd)-(MXGM H) 
(oooM 
loood- MM': 

&oukon Molecula weight of tH0, Q132 =34. 

O1. oqueow Hao means a ogrs of #g6, în lcogn 
of solui. 

Mass ofooter l00-Q0= 80. 

Mde hacko of oate 

Xooder 18 

1834 

Dater 
Porer tRHO. 

34. 

Byxsof 1s(20 ). 

68 

24 
8O x34 

Q420+360 
68 

3080 
=0.883. 

>0-883 



O19) Ans A) A- 4.,B- I, C - 2, D-3 

&oluton 
) Molality 

c) Norma kty 
BMole hactin ) No uni. 

Q20Ans A) P 

Molority ’ 3) mol. 

&olukan 
A) Nomaly 

)gmo Kg 

) Mde 

Ans C 

-). 

)92- dm d3 

.do-3. 

B) P c)4s �) RS. 

B) Mdavity ’ P) Vary wtth terpealre. p) Yay wtth donpeatae. 
Vavy 

c) Molaltty ’)rdpendent of tonperatue 
Vorialta 

) Tnvolve weig ht fochan-a)dorenderto donperatwe. 
ROToNoves Yatio. 

baogr's Task 

&oluton Uni% ofnolay 

|0. 

&outtr ni% o Normalty are Guamequävabstsl he 

are mola Ikg. 



Q3) Anst C. 

&olutton Rela kon blw moboty 4 mololy 

AnstA 
No. of moles 

lo00 x M 

Q5)Ans} 
Salution Uea 

c 

(000x d) - xGMw) 
GMw = M! 

lo00 xM) 

Wsovent z o0g 

(o00 xd MM 

May of solvent =0.lKg 

Xurea 

of urea (h) 0. ron mol 

Mola hhyMoles Csolcte ) 

Mas (solvent în k) 

olmolal. 

CHy No 0 = 12+4128+l6 =60 . 

Giv e 6qr of urea’ n60l. 

qo gons of oatey 
O.) 

O.|+5 

60 

5 mle. 



&oluKn XA+ Xa+xct l. 

Q1)Ags A 
&olutir 

XA is less than 0.5 

hoXA XI00O 

(-Xa) GMwB. 

G°ven 

Q3)AS D 

MW of Solyen 

l000 
18 

Molefoctim of Solvent I- Xs 

f8 ooter MWI8. 

lo00 x M 
I000d- MM 

&olutoot G ven , nl,M: 40, 

|000M4YOM> l 020 

l2 

48 +1000 

= |-0-00o 149= 0.9982[. 

M> 10ap 

18 

|00]: 8 

d= ho2g/m hozglo l. 
loo0 M 
looo (h02)--OM 



Q4)ArgB 
&luhin' ore eratrn of NaoH- lo'% ow. 

het loo gu of Soluio mas of NaOH- lo gn. 

TNaoH 
Man of ntn = loo -lo 0. 

rte= 

o25 moles. 

XNaot 

Q)l Ans-D. 

T8 
-5 modey 

Naooote 

O25t5 

|&oution Spedthe gravty= bst. 
H3POy >3+3l+ 64 93 

N= loxspeoic gravtyx oejght 9. 
GEw 

= lox |54X7o 

48 

o25 -0-o6 

JEE Matr level Ques lions 

&olutrn I Male of a&d dissolved 

give IN 3ollion. bosicht 
2 3: 

wortey wtl giv IN soutfo only î the aag having 
kasiahy I. 

= 33N. 

HcHclay & HNo are all mono basic. 

on hhe 

value 3 30 Pt 



Q3)As D. 
Solulion 

) lo0oml of o.3N 
0-3-w. 

GEw 

GE) ) 

N= 

Qu) Ans B. 

|1). 3000r 

T) 90Don) L of o.15 N. 

N 

03. 

x loo0 

GEw 

D) 50omL aP o.N Solutin. of 

= xo-5= 03 

000 2 

Vin. 

Noow 

of oN solutim, 

GEW 

NaoH NHa 

6E)0x3 o3. 

loeo 
3000 

ntNHcg = wught x{000 0-04x 1000 

15 

3 

GEw V 

40xI 

-=·095 

I·095x4Yo 
|000 

W. 



Egusvalent of x= Egutva lent of 4. 
9 HcL Cacl t taO. 

I00 

bet v be the volure of Hcd that neudhalse 
CaO3 

Bolutin Solvay proces X is Cacoyé y s Hcl. 

No of Electn gasn ed Yhoy gotr 

8M of kMnOu= 158 58. 

Molerulbn werght 

electroy gained |. 
In kMnou, Mn Jo Moa= Mo-&. 

15 

Calo, 
95gmy of 

õouin quivalert moy o KMnay = 

N 
|:5N=ao5 

5=5N45 

Nx|54 25 

Q Ans B 

N= 5 

Q6)Ans B 

Valny fact of Hd ts I. 
V,+V2 

8olutin N= NVI+ Naz 
Qo) Ans B 



Q) Ans C 

utfon o 25 mole ofure au present in K� ofualo 

Mole of urea = 0 25 mole. 

Mas of solvent (waor)= Ikg = o00 
Molamay of Urea (NH (ONty) 6ogmol 

o5 o of urea = 095 

loBal 

Qio Ans A 

|: O15 Kg of soluton cantais 

May of 

= 15 

ma ss of solufrn (000 4I5 =lo15 
=(·015 K 

No of mole of 

Total 

159 x . 5 kg af solin ill ubaurea 

159 x25 K 

|·o15kj 

&olutien Mas of Sug oor = 3423 = 

Noof nnoley af suga = Siga Mol mY 342 

Mas of ooter= 4:2 -34.2 = I80g = 0.l8 K� 

oater 

Mdatty No of moles 

-

urea = 

34.2 = 

BO 
18 

of sug a 

lo moley 

no of mole (0+0= loI. 

Mole faction of Sugcon = 0.-0. 0099 

-0.55 SM 

= 34-2 



Q)AnsB 
&luin lo% means 1og of glucose io yo0gm sout 

coater= (o0-lo =o9ms. 

Molar mog 
C;Ha Os = 6x124 12x1+ 6xl6 = I8o glmo . 

no of mole ofqlucose e - O-o56 mol. 

Molaley of soutn = o o56 
Xw= molea cion of A. 

No of moley ofpater = o 

Xa= o056 

Ùa) Ans C. 

O 05 +5 

mi XA 

(|-XA) mg 

mole ha con o Leater Xio l- Xa =-0-01! 

I30 

SolutonA’ Solte B’ Sovent 

x|000 

16282 

=Ol5| xlo 
15282 

XI000 

x\000 

- 0. 62 

5 

=9- 88o? 

moes 

=0989. 



solution îs m 

ofsovet 

weight 

Oycdatm nanben of Mn fn kMnoy =+ 
change in osdato tat 

e== M 

solte in lo00 gom 

| mole solda in l00oml 

Change = 7-6 =1. 
M 

tmW, 

&o conçentratn of mol aueo 

Tn MnOy= 6 

Soluton E Moleculas 

|m soluhn mean mole 

Soluton | M solution meang 

Mi 
W) 

|4mM 

l000P -x GM w) 
M 

l000 M 

n 

Molalry 

Q4)ApsA 

Boluton 
O3)ns AB,C 



Q5) Ans c. 

Solukon 

Qns3. 

Q) Ans 3. 

|oluton Hg POy is 

lo0odMM 

Trtegerpe 

Sdution n- acta of HgPou =3 

trbesic. 

N3M 
-3x1=3. 

QIS) Ans'-. 
&olutior 

may of HPOy = 4o99 mol 

molaor mos of Hapoy = 3+3l+ 64 = 98 

no-of mole49 -Or 05 mol. 

Molarty no- of moley of H5 POy. 
volume of soutin io Lite 

Normality =nx Molaty 3xo 

G 

m y (000 
GiM 

X= 3. 

x l000 
585 

. 

=03 ’ 3xI0 

(00-2 

(00- 2 
000 

585x48 

O-o5 

O5 
=0.l M. 

000 

5433 

o.36 
-35X|0-2 



QAns50 

charge 
Eqtvalnt wig ht cf sa =Mceu. 

&olutin' noO3 0. o25 

in oyidan staf= | 

Q)Ans A 

O.8 
3 

nN = 6.4 0.0 25 

mde percert of o = 

n-act8 

O025 

Addetonal Pracise Que torg 

n-fate 

O O25 +0.625 

Q.5 

=M 
n 

aouton Ezivalert wetght eal to moleculasn 
weght diided by n-fact. 

Hg P= 1. 



g) Ans-B 

Qu) 

Sdutm Mdalsy No of mole ol soluf 

Molaly d no ofmoly of olt 

Q3)Ans B 
Solution' 

To redur e mdaly 
toeight of sovent 

Ans 
Solhon 

Molaliy a. 
d 

N= lo9_ 

y=0981. 

GEN. 

fe Sou 

lo-2 

wetghl ofGovert 

N= lo x 6: 98 

GEW= 
CH¡ So) 

y6 

Gmos 

93. 

One ha ll, double the 

6. 

=0. 49. 

W lox 294 

2 

46 

of 

gng 

noof GEW of Fesoy= no- of GEW of Ks (r, 04 

9-8 -0-2. 

GMN= 294. 

GEW. 

solute 

6.w 
a94 

2 
=46. 

l6 3x2-6 3 

n=6. 
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